T

: : 5ROWS

X i

1

10 STITCHES

38 STITCHES =43 CM

=9CM

BROWS

36 STITCHES

14

10

34 STITCHES

57CM

32 STITCHES

SLEEVES

30 STITCHES

=40CM

35 ROWS

28 STITCHES

o]
© WD 6% = SIHDLILS T 4
=
2
S =
? 3
)
W
£
2
~
x SIHOLILS vt /\
SIDLLS Tr
AOvE B INOY4
E
2
]
O
SIHOLILS 71
N
SIDLLS SL 2 SIHOLILS SL
Xz i 2
wn

/(
—
/ﬂ/

26 STITCHES

24 STITCHES

5 ROWS

22 STITCHES

ROWS =7 CM

RIB 2X2

12




SAHOLILS Sl

¢Xc dld




AOVE R LINOYA

20 ROWS




30 ROWS




5 ROWS

¢XZ dld



SAHOLILS ¢l

SAHOLILS Gl




SAHDLILS ¥

SAHDOLILS &



59 ROWS =67 CM

WD 6% = S3HDLILS ¥






26 STITCHES

24 STITCHES

22 STITCHES




10

34 STITCHES

32 STITCHES
=
O
N
LN
Il
%
=
@)
oc
o

30 STITCHES ok

28 STITCHES




11

10 STITCHES

38 STITCHES =43 CM

36 STITCHES




12

6 ROWS=7C




35 ROWS =40 CM

SEUEERN




14

8 ROWS =9 CM

N\




